10 12
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 (76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 11.0 9.0 8.0 1.0 4.0 0.0 0.0 0.0 0.0 37.0
C-D)C-)D)1C=-D1C=-D1C=-DH[C=-D[C-)D[C-)]|(8.0] (110.0)| (429 (8.0 W0.0)| C - )| C-)|C=-D)C-=-D)C-) 71.4
( 0.00] ( 0.0)] € 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] (10.8)] (29.8)| (24.3)| (21.6)| ( 2.7)| (10.8)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 2.0 9.0 6.0 1.0 0.0 0.0 0.0 0.0 0.0 21.0
C-D)C-)D)C=-D1C=-D1C-DH[C=-D[C-)D[C-)| @00 (66.7) (128.6)| (150.0) | (0.00| C - )| C-D)|C-)|C-)C-) 71.5
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] (14.3)] ( 9.5)| (42.8)| (28.6)| ( 4.8)| ( 0.0)| ( 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 1.0 0.0 1.0 7.0] 16.0] 19.0] 38.0] 21.0 7.0 2.0 0.0 0.0 0.0 0.0 112.0
C-)C-D)[C-D)C=-DC-D]C=-D[C-)| (0.0 (20.0)| (146.2)| (118.8)| (116.7) | 6.7 | (1B.Y| C - )| C -)D)| C -] C - ) 71.8
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| ( 0.9 C 0.00| ( 0.9 ( 6.3 (14.3)]| (17.0)]| (3.0 (18.9)]|  6.3| ( 1.8)]| ( 0.00]| ( 0.0)| ( 0.00] ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 2.0 20| 1.0] 12.0 3.0 0.0 1.0 0.0 0.0 0.0 2.0
C-D)C-D)1C=-D1C=-D1C=-D[C-=-D[C-)D[]C-)]|(200.0] (2000 (2.0 (100 | (60.0)| C - )| C-)|C=-D)C-D)[C-) 71.1
( 0.0 ( 0.0)| ( 0.0 ( 0.0)| C 0.00| C 0.0| ( 3.DD| ( 0.00] ( 6.3)| ( 6.3 (D] (37.D]| ( 9.9| ( 0.0)| ( 3.D]| ( 0.0)| ( 0.00] ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 3.0 4.0 7.0 4.0 2.0 0.0 0.0 0.0 0.0 24.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-)]C-)]| @00 (667 (100.0)| (66.7)| (00.0)| C - )| C-)C-)[C-) 71.0
 0.00| ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 42| (12.5] (12.5] (16.7)] (2. | (16.7| ( 8.3)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 2.0 2.0 0.0 2.0 0.0 0.0 0.0 0.0 8.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C=-DC=-DC=-)C=-D)C=-D[C=-DC-=-DC-DC=-DC-=-HC-) 70.9
( 0.00| C 0.0)] € 0.0)] C 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] (12.5] (12.5)] (25.0)| (25.0)| ( 0.0)| (25.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=-D]C=DC=D]C=-D]C=D -] C-)C-[C-D[C-IC-DC-D[C-DC-D|C-)| 73
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] € 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] (200.0)| ¢ 0.0)| ¢ 0.0)| ¢ 0.0)|  0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-DC-DC=-D)C=-)C=-D)C=-D[C=-D]C-DC-D)|C=-D)C-H)C-) 71.4
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.0)] ¢ 0.0)] (200.0)| ( 0.0)| ( 0.0)| ( 0.0)|  0.0)|  0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-)C-D)C-D)C=-DC=-D[C=-D0C=-DC-I)C-DC=-DC=-D[C=-D)C-DC-D)C=-DC=-DC=-D]C-) 70.5
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)] (200.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D1C=-C=D]C=D[C=C=-D[C=D]C=DC=-D]C-D[C-DC-DC-D[C-D[C-)|C-)| s
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)] (100.0) | ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 1.0 0.0 2.0 8.0 30.0] 38.0] 7.0 58.0] 16.0] 10.0 1.0 0.0 0.0 0.0 240.0
C-)D)C-D)1C=-DC=-D1C-H[C-D]C-)| @43 (157.9)| (13%6.7)| (102.7) | (116.0) | (69.6) | (62.5)| (20.00| C - )| C - )| C - ) 71.5
( 0.00| ( 0.00] ( 0.0)]  0.0)| C 0.9)| C 0.0)| ( 0.8)] ( 3.3)| (12.5] (15.8)] (36.3)]| (24.2| ( 6.7| ( 4.2)| ( 0.4 | ( 0.0)| ( 0.0)| ( 0.0)| (100.0)




1 10 1 12
B C
81 80.9 8 (79.9 79789 78 (77.9 77 (76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.

0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 4.0 4.0 10.0 6.0 3.0 0.0 0.0 0.0 0.0 0.0 28.0
C-D)C-)D)1C=-D1C=-D1C=-DH[C-D[C-)](5.00] (400.0)| (40.0)| (125.0)| ([00.0) | W0.0)| C - )| C-D)|C-=-D)|C-=-D)[C-) 71.6
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 3.6)| (14.3)] (14.3)| (35.7)| (21.4)| (10.7)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 6.0 3.0 1.0 0.0 0.0 0.0 0.0 0.0 13.0
C-D)C-DC=-D1C=-DC=-D[C=-D[C-D[C-D)| VY| (006D (BOD|C-D)]C-D)]C-)|C=-D)C-)C-) 71.5
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.00]| ( 7.D)| (15.8)] (46.D]| (8.D| ( .|  0.0)| ( 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 7.0 24.0] 23.0] 13.0 9.0 3.0 1.0 0.0 0.0 0.0 81.0
C-)C-D)[C-DC=-DC-D[C-D[C-)(0.0|(63.6)|] (1.3 (92.0)| (76.5)| (88| (75.0)| (100.0)| C - )| C -] C-) 71.5
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 1.2)] ( 8.6)] (29.8)] (28.49)] (16.0)| (11.D)| ( 3.7D| ( 1.2)| ( 0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 1.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0
C-C-DC-DCDIC-DC-DC- -] @O (- (U (LD (- C-)C-IC-IC-)]C-) 73
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] (50.0)| ( 0.0)| (25.0)] (25.0)| ( 0.0)| ( 0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 3.0 7.0 10.0 8.0 5.0 0.0 0.0 0.0 0.0 0.0 35.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-D)]C-)]@B0O(C66ND|I(CD|@WE.D|C-)C-)C=-)C-)C-) 71.5
 0.0)| C 0.00] ( 0.0)] C 0.0)| ( 0.0)| C 0.0)| ( 2.9)| ( 2.9)| ( 8.6)| (20.0)]| (28.9)| (2.9 | (14.3)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 2.0 1.0 0.0 0.0 0.0 0.0 4.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C=-DC=-DC=-)C=-D)C=-D[C=-DC-=-DC-DC=-DC-=-HC-) 69.9
( 0.0)| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] (25.0)| ¢ 0.0 ( 0.0)| (50.0)| (25.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D]CDC=D]C=-D]C=DC-D[C=D]C=DC-D[C-D{C-DC-DC-D[C-D[C-D|C-)| 7o
( 0.00] ( 0.0)] ( 0.0)] C 0.0)] ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] (200.0)| ¢ 0.0)| ¢ 0.0)|  0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-DC-DC=-D)C=-)C=-D)C=-D[C=-D]C-DC-D)|C=-D)C-H)C-) 72.3
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] (100.0)| ¢ 0.0)| ¢ 0.0)|  0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 1.0
C-)C-D)C-D)C=-DC=-D[C=-D0C=-DC-I)C-DC=-DC=-D[C=-D)C-DC-D)C=-DC=-DC=-D]C-) 69.8
( 0.00] ( 0.00] ( 0.0)| ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] ¢ 0.0)| ¢ 0.0)] ( 0.0)| (200.0)| ¢ 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D1C=-C=D]C=-D[C=DC=-D[C=D]C=IC=DC-D[C-DC-DC-D[C-D[C-)|C-)] 71
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] (100.0)| ( 0.0)|  0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 2.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-DC=-)C=-DC=-D[C=-DC=-DC-DC=-DC-=-DH[C-) 73.0
( 0.00| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] (50.0)] (50.0)| ¢ 0.0 ¢ 0.0)|  0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 0.0 0.0 0.0 0.0 0.0 2.0
C-D)C-)D)C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-DC=-)C=-D)C=-D[C=-DC-=-DC-D)|C=-D)C=-HC-) 70.1
( 0.00| € 0.0)] € 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] (50.0)| (50.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 19.0] 43.0] 5L0| 32.0] 220 4.0 1.0 0.0 0.0 0.0 176.0
C-D)C-)D)C=-)1C=-)C=-D)[C-)[(0.0] (B.1)]| (8.4 (116.2)| (77.3)| (71.1)| (110.0)| (%0.00| (0.00| C - )| C - )| C - ) 71.5
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)| ( 0.0)| ( 0.6)| ( 1.7)] (10.8)] (24.4)| (31.8)] (18.2)| (12.5)| ( 2.3)| ( 0.8)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)




B C
81 80.9 80 |79.9 79|78.9 78 |77.9 77 |76.9 76 |75.9 75|74.9 74 |73.9 73|72.9 72 (719 71([70.9 70 |69.9 69 |68.9 68 |67.9 67 [66.9 66 [65.9 65 |64.9

0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 3.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-D)@OOD[C-D[C-D)C-=-D)C-D)C=-DC=-DHC-) 72.6
( 0.0)| € 0.00] ¢ 0.0  0.0)] ¢ 0.0)| ( 0.0)| (20.0)| ( 0.0)| (20.0)| ( 0.0)| (60.0)| ( 0.0

( 0.0)| ¢ 0.00| ( 0.0)]| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)




